is given by B =  B, with  = 0J/B a xxxxxxxxxxxxxxxxx B = B is the xxxxxx xxxx xxxxx, J = J is the xxxxxxxx xx xxxxx 0 is the permeability of free space.  xxxxxxxxxx J and B over a xxxxxxxx with current I and xxxx  gives  = 0I/.  xxx K   d, xxxxxxxxxxxxxxx xxxxxxxxxxx xxxxxxxx d xxxxxxxx xxxxxxxxxxx xxxx.  For x xxxxxxxxxxxxxxxxxxx xxxxxxxxxxxxxxxxxxxxxxx xxxxxxx, K ~ Tp.  Thus at fixed T, K Ip xx xx xxxxxxxxxxxxxxxxxxxxxxxxxx.In the xxxx of a xxxxxxxxxx, this is dK/dt = 2 VloopT.  






